Year 4 Homework Week 1 - 19t April 2024

Maths

This week' s homework focuses on
Please find the mathematics worksheet
provided in this assignment. You will
receive a printed copy.

Kindly enswre that it is completed by next
Thursday. (25.04.2024)

Please make sure that yow are pructising
youwr timetables. Remember the national
test takes place in June.

Spelling

This week's spelling words are provided below:.

Kindly enswre that you complete the
assignment on Spelling Shed before next
Thursday.(25.04.2024)

Will your class he in the top 5 next week?
SPAG.com

You will all get a username and password, for
SPAG.com. There is a short task on

Reading
Youw MUST read for 20 minutes every
day. As soon as you have finished the
hook, you will need to complete a quiz.
Use the link helow; please remember
that this is the ONLY link that will
work!

Do explore myON, so you have more
options.

Yowr reading diaury MUST he completed.
https://global-zoneb1.renaissance-
go.com/welcomeportal /2079688

apostrophes to complete this week.
scene offect
seen here
whose hear
who's heel
affect heal

Reminders and messages

We hope that yow all had a wonderful Easter and,

Just a friendly reminder about the upcoming
multiplication timetable test scheduled hetween
June 3rd and June 14th this year. Ask your parents
to test youw and help youw learn the ones that you do
not know. You can even pructise on TTR.

Victorian Day will be celebrated on 14™ May. We
have some exciting activities planned. You can come
dressed up as Victorians.

God Bless and have a wonderful weekend!
Ms Dimech and Mrs Taneja



https://global-zone61.renaissance-go.com/welcomeportal/2079688

https://www.theschoolrun.com/no-sew-history- costumes,

Tuesday 14* May is Victorian Day.

Come dressed as Victorians.


https://www.theschoolrun.com/no-sew-history-costumes

Name: Fructions

o Find the answer to the following calculation. ° Harry has 45 apples.

He uses 2 of them to make some juice.
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Jane takes part in a cycle race.
o Find the answer to the following calculation. ° B ¥

She cycles 64 km.
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This is 3 of the total distance.

How long is the cycle race?
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e Ambika spends 2 of her money on a new T-shirt.

How much money does she have left?
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o Mark bakes some bread.
He has 2 5 kg flour.
A loaf of bread needs 3 kg of flour.

How much flour does he have left?
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Name:

10x 5 = 10x 8 = 8x5=

6x3= 11 x 12 = 4x11=
IR A= Ox2-= 12 x12 =
4 x4 = 12 x 11 = 6x38=
2x]1= 3 X6 = 5x6=
8x1-= 1x3= 8x12 =
2x5= /] x6= /x4 =
1x9-= 10 x 3 = 12 x 4 =
3x12 = 11 x 8 = 7 X8 =

12 x 3 = 10x 9 = Ox9=




